Mounting Instruction

Montageanleitung SIKOTGS90CRT
WHCTpyKUMA No ycTaHOBKe SIKOTGS100CRT
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The drilling of this wall clamp
need to be at the inmost end.

The drilling of this wall clamp
can be in the middle.
Vrtdno musi byt uprostred.

The drilling of this swall clamp
need to be at the outmost end.

Vrtano musi byt na nejvzdalenéjsim konci

The drilling of this wall clamp
can be in the middle.
r—— - -~ 7 Vrtdno musi byt uprostred.

The drilling of this swall clamp
need to be at the outmost end.

Vrtano musi byt na nejvzdalenéjsim konci

The drilling of this wall clamp
can be in the middle.
Vrtano musi byt uprostred. r—— "~ ———

The drilling of this wall clamp
need to be at the inmost end.

The drilling of this wall clamp
can be in the middle.
Vrtano musi byt uprostied.
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The drilling of this support bar
need to be at the inmost end.

The drilling of this support bar
need to be at the outmost end.
Vrtadno musi byt na nejvzdalenéjsim konci.

D

2

v i
.
Vo ——

The drilling of this support bar
need to be at the inmost end./\

Vrtano musi byt na nejvzdalenéjsim konci.
The drilling of this support bar

need to be at the outmost end.
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